

Grzegorz Grzegorzcyk, Jarosław Werbowski

**ON OSCILLATORY SOLUTIONS  
OF CERTAIN DIFFERENCE EQUATIONS**

**Abstract.** Some difference equations with deviating arguments are discussed in the context of the oscillation problem. The aim of this paper is to present the sufficient conditions for oscillation of solutions of the equations discussed.

**Keywords:** difference equations, oscillation.

**Mathematics Subject Classification:** 39A10.

In this paper we deal with the oscillatory behavior of solutions of the nonlinear difference equation

$$(-1)^v \Delta^m x(n) = p(n) \prod_{i=1}^w |x(g_i(n))|^{\alpha_i} \operatorname{sgn} x(n), \quad (N_v)$$

where  $n \in N = \{1, 2, \dots\}$ ,  $m \geq 2$ ,  $v \in \{1, 2, m\}$ ,  $w \geq 1$ ,  $p: N \rightarrow R_+ \cup \{0\}$ ,  $g_i: N \rightarrow N$ ,  $\lim_{n \rightarrow \infty} g_i = \infty$ ,  $g_i(n) \leq n$  on  $N$  ( $i = 1, \dots, w$ ),  $\alpha_i \in [0, 1]$  ( $i = 1, \dots, w$ )

and  $\sum_{i=1}^w \alpha_i = 1$ . Moreover, let

$$\sum_{s=n_0}^{\infty} p(s) \prod_{i=1}^w [(g_i(s))^{(m-1)}]^{\alpha_i} = \infty. \quad (C)$$

As usual, we define the forward difference operator as follows:

$$\Delta^0 x(n) = x(n), \quad \Delta^m x(n) = \sum_{i=0}^m (-1)^{m-i} \binom{m}{i} x(n+i),$$

for  $m \in N$ . For each  $r \in R$  and a nonnegative integer  $s$  the factorial expression is defined as  $r^{(s)} = r(r-1) \cdot \dots \cdot (r-s+1)$  with  $r^{(0)} = 1$ . By a solution of equation

$(N_v)$  we mean a function  $x : N \rightarrow R$  such that  $\sup_{n \geq n_0} |x(n)| > 0$  for any  $n_0 \in N$  and  $x$  satisfies  $(N_v)$  for  $n \in N$ . A nontrivial solution  $x$  is called oscillatory, if for every  $n_0$  there exists  $n \geq n_0$  such that  $x(n)x(n+1) \leq 0$ . Otherwise, it is nonoscillatory.

Hereinafter we use the following lemmas, which are the discrete analogues of the theorems for differential equations due to Kiguradze [4] and Koplatadze and Chanturia [5], (see also [1, 3]).

**Lemma 1.** *Let  $x$  be a nonoscillatory solution of  $(N_v)$ . Then there exist  $n_0 \in N$  and an integer  $l \in \{0, 1, \dots, m\}$ , with  $m + l + v$  even, such that for  $n \geq n_0$*

$$\begin{cases} x(n)\Delta^i x(n) > 0 & \text{for } i = 0, 1, \dots, l-1 \\ (-1)^{i+l} x(n)\Delta^i x(n) > 0 & \text{for } i = l, \dots, m-1. \end{cases} \quad (1)$$

**Lemma 2.** *Let  $x$  be a nonoscillatory solution of  $(N_v)$  satisfying inequalities (1) with  $l \in \{1, 2, \dots, m-1\}$  and  $m + l + v$  even. In addition, let*

$$\sum_{n=n_0}^{\infty} n^{(m-l)} |\Delta^m x(n)| = \infty. \quad (2)$$

Then the following inequalities hold for sufficiently large  $n \geq n_1$ :

$$|\Delta^{l-1} x(n)| \geq (n - m + l) |\Delta^l x(n)| + \frac{1}{(m-l)!} \sum_{s=n_1}^{n-1} s^{(m-l)} |\Delta^m x(s)| \quad (3)$$

and

$$|x(n)| \geq \frac{(n - m + l - 1)^{(l-1)}}{l!} |\Delta^{l-1} x(n)|. \quad (4)$$

**Lemma 3.** *Let  $x$  be a nonoscillatory solution of  $(N_v)$  satisfying inequalities (1) with  $l \in \{1, 2, \dots, m-1\}$  and  $m + l + v$  even. Then*

$$|\Delta^l x(n)| \geq \frac{1}{(m-l-1)!} \sum_{s=n}^{\infty} (s - n + m - l - 1)^{(m-l-1)} |\Delta^m x(s)| \quad (5)$$

for sufficiently large  $n \geq n_0$ .

The following theorem characterizes the oscillatory behavior of bounded solutions of  $(N_m)$ .

**Theorem 1.** *If for some  $h \in \{0, 1, \dots, m-1\}$*

$$\limsup_{n \rightarrow \infty} \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^{n-1} (s - g_j(n) + m - h - 1)^{(m-h-1)} p(s) \times \right. \\ \left. \times \prod_{i=1}^w [(g_i(n) - g_i(s) + h - 1)^{(h)}]^{\alpha_i} \right\}^{\alpha_j} > h!(m-h-1)!, \quad (6)$$

then  $(N_m)$  has no solution  $x$  for which

$$(-1)^i x(n) \Delta^i x(n) > 0$$

$$\text{for } i = 0, 1, \dots, m-1 \text{ and } (-1)^m x(n) \Delta^m x(n) \geq 0 \quad (n \geq n_0). \quad (7)$$

*Proof.* Suppose that equation  $(N_m)$  has a nonoscillatory solution  $x$  satisfying inequalities (7).

From the discrete Taylor formula:

$$\Delta^i x(n) = \sum_{j=i}^{m-1} \frac{(n-s)^{(j-i)}}{(j-i)!} \Delta^j x(s) + \frac{1}{(m-i-1)!} \sum_{r=s}^{n-m+i} (n-r-1)^{(m-i-1)} \Delta^m x(r), \quad (8)$$

for  $i = h \in \{0, 1, \dots, m-1\}$ , we derive

$$|\Delta^h x(n)| = \sum_{j=h}^{m-1} \frac{(s-n+j-h-1)^{(j-h)}}{(j-h)!} |\Delta^j x(s)| + \frac{1}{(m-h-1)!} \sum_{r=n}^{s-1} (r-n+m-h-1)^{(m-h-1)} |\Delta^m x(r)|,$$

that is

$$|\Delta^h x(n)| \geq \frac{1}{(m-h-1)!} \sum_{r=n}^{s-1} (r-n+m-h-1)^{(m-h-1)} |\Delta^m x(r)| \quad (9)$$

for  $h \in \{0, 1, \dots, m-1\}$  and  $s \geq n \geq n_0$ .

From (8) with  $i = 0$  there follows:

$$x(n) = \sum_{j=0}^{m-1} \frac{(n-s)^{(j)}}{j!} \Delta^j x(s) + \frac{1}{(m-1)!} \sum_{r=s}^{n-m} (n-r-1)^{(m-1)} \Delta^m x(r).$$

Next we see that

$$|x(n)| = \sum_{j=0}^{m-1} \frac{(s-n+j-1)^{(j)}}{j!} |\Delta^j x(s)| + \frac{1}{(m-1)!} \sum_{r=n}^{s-1} (r-n+m-1)^{(m-1)} |\Delta^m x(r)|,$$

which gives

$$|x(n)| \geq \frac{(s-n+h-1)^{(h)}}{h!} |\Delta^h x(s)|$$

for  $j = h$ ,  $h \in \{0, 1, \dots, m-1\}$  and  $s \geq n \geq n_0$ .

From (9),  $(N_v)$  and the last inequality we get

$$\begin{aligned} |\Delta^h x(g_j(n))| &\geq \\ &\geq \frac{1}{(m-h-1)!} \sum_{s=g_j(n)}^{n-1} (s-g_j(n)+m-h-1)^{(m-h-1)} |\Delta^m x(s)| = \\ &= \frac{1}{(m-h-1)!} \sum_{s=g_j(n)}^{n-1} (s-g_j(n)+m-h-1)^{(m-h-1)} p(s) \times \prod_{i=1}^w |x(g_i(s))|^{\alpha_i} \geq \\ &\geq \frac{1}{(m-h-1)!} \sum_{s=g_j(n)}^{n-1} (s-g_j(n)+m-h-1)^{(m-h-1)} \times \\ &\quad \times p(s) \prod_{i=1}^w \left[ \frac{(g_i(n)-g_i(s)+h-1)^{(h)}}{h!} \right]^{\alpha_i} |\Delta^h x(g_i(n))|^{\alpha_i}, \end{aligned}$$

i.e.,

$$\begin{aligned} (m-h-1)!h! |\Delta^h x(g_j(n))| &\geq \\ &\geq \prod_{i=1}^w |\Delta^h x(g_j(n))|^{\alpha_i} \sum_{s=g_j(n)}^{n-1} (s-g_j(n)+m-h-1)^{(m-h-1)} p(s) \times \\ &\quad \times \prod_{i=1}^w \left[ (g_i(n)-g_i(s)+h-1)^{(h)} \right]^{\alpha_i}. \end{aligned}$$

Raising both sides of the above inequality to the power  $\alpha_j$  and then multiplying the resulting inequalities, we obtain

$$\begin{aligned} (m-h-1)!h! \prod_{j=1}^w |\Delta^h x(g_j(n))|^{\alpha_j} &\geq \prod_{i=1}^w |\Delta^h x(g_j(n))|^{\alpha_i} \times \\ &\times \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^{n-1} (s-g_j(n)+m-h-1)^{(m-h-1)} p(s) \times \right. \\ &\quad \left. \times \prod_{i=1}^w \left[ (g_i(n)-g_i(s)+h-1)^{(h)} \right]^{\alpha_i} \right\}^{\alpha_j}, \end{aligned}$$

which contradicts (6). Therefore,  $(N_m)$  has no solution  $x$  with property (7).  $\square$

**Corollary 1.** Consider difference equation  $(N_m)$  subject to condition (6). Then all bounded solutions of  $(N_m)$  (if exist) are oscillatory.

We show that condition (6) is essential for a bounded solution of  $(N_m)$  to be oscillatory. Let us consider the following equation:

$$\Delta^2 x(n) = 2^{-10} [x(n-5)]^{2/5} [x(n-10)]^{3/5},$$

which has a bounded nonoscillatory solution  $x(n) = 2^{-n}$ . In this case condition (6) is not fulfilled, because, for  $h = 0$ :

$$\begin{aligned} \limsup_{n \rightarrow \infty} \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^{n-1} (s - g_j(n) + 1)p(s) \right\}^{\alpha_j} &= \\ &= \limsup_{n \rightarrow \infty} \left\{ \sum_{s=n-5}^{n-1} (s - n + 6)2^{-10} \right\}^{2/5} \left\{ \sum_{s=n-10}^{n-1} (s - n + 11)2^{-10} \right\}^{3/5} = \\ &= \frac{(15)^{2/5}(55)^{3/5}}{2^{10}} < 1, \end{aligned}$$

and for  $h = 1$ :

$$\begin{aligned} \limsup_{n \rightarrow \infty} \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^{n-1} p(s) \prod_{i=1}^w (g_i(n) - g_i(s))^{\alpha_i} \right\}^{\alpha_j} &= \\ &= \limsup_{n \rightarrow \infty} \left\{ \sum_{s=n-5}^{n-1} 2^{-10}(n-s)^{2/5}(n-s)^{3/5} \right\}^{2/5} \times \\ &\times \left\{ \sum_{s=n-10}^{n-1} 2^{-10}(n-s)^{2/5}(n-s)^{3/5} \right\}^{3/5} = \frac{(15)^{2/5}(55)^{3/5}}{2^{10}} < 1, \end{aligned}$$

Now, we present the theorem on behavior of solutions of  $(N_1)$ .

**Theorem 2.** Assume that (C) and

$$\begin{aligned} \limsup_{n \rightarrow \infty} \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^{n-1} (s - g_j(n) + m - l - 1)^{(m-l-1)} \times \right. \\ \left. \times p(s) \prod_{i=1}^w [(g_i(s) - m + l)^{(l)}]^{\alpha_i} + \right. \\ \left. + \prod_{i=1}^w \left[ (g_i(n) - m + l) + \frac{1}{(m-1)!} \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} p(s) \prod_{k=1}^w [(g_k(s) - m + l)^{(l)}]^{\alpha_k} \right]^{\alpha_i} \right\} \times \\ \times \sum_{s=n+1}^{\infty} (s - g_j(n) - m - l - 1)^{(m-l-1)} p(s) \times \\ \left. \times \prod_{i=1}^w [(g_i(s) - m + l - 1)^{(l-1)}]^{\alpha_i} \right\}^{\alpha_j} > (m-1)!, \quad (10) \end{aligned}$$

are satisfied for all  $l \in \{1, 2, \dots, m - 1\}$  with  $m + l$  odd. Then for an even  $m$  every solution of  $(N_1)$  is oscillatory and for an odd  $m$  every solution of  $(N_1)$  is either oscillatory or  $\lim_{n \rightarrow \infty} \Delta^i x(n) = 0$  monotonically for  $i = 0, 1, \dots, m - 1$ .

*Proof.* Assume that  $(N_1)$  has a nonoscillatory solution  $x(n) \neq 0$  for  $n \geq n_0$ . Then, by Lemma 1,  $x$  satisfies (1) for some  $l \in \{0, 1, \dots, m-1\}$  with  $m+l$  odd.

First consider the case when  $m$  is even; then  $l \in \{1, 3, \dots, m-1\}$ . From Lemma 3 we get

$$|\Delta^l x(g_j(n))| \geq \frac{1}{(m-l-1)!} \sum_{s=g_j(n)}^{\infty} (s-g_j(n)+m-l-1)^{(m-l-1)} |\Delta^m x(s)|,$$

for  $j = 1, \dots, w$ . From  $(N_1)$ , (4), (3) and (1) there follows that

$$\begin{aligned} |\Delta^l x(g_j(n))| &\geq \frac{1}{(m-l-1)!} \times \\ &\times \sum_{s=g_j(n)}^{\infty} (s-g_j(n)+m-l-1)^{(m-l-1)} p(s) \prod_{i=1}^w |x(g_i(s))|^{\alpha_i} \geq \\ &\geq \frac{1}{(m-l-1)!} \left\{ \sum_{s=g_j(n)}^{\infty} (s-g_j(n)+m-l-1)^{(m-l-1)} p(s) \times \right. \\ &\quad \times \prod_{i=1}^w \left[ \frac{(g_i(s)-m+l)^{(l)}}{l!} \right]^{\alpha_i} |\Delta^l x(g_i(s))|^{\alpha_i} + \\ &\quad + \sum_{s=n+1}^{\infty} (s-g_j(n)+m-l-1)^{(m-l-1)} p(s) \times \\ &\quad \times \prod_{i=1}^w \left[ \frac{(g_i(s)-m+l-1)^{(l-1)}}{l!} \right]^{\alpha_i} |\Delta^{l-1} x(g_i(s))|^{\alpha_i} \left. \right\} \geq \\ &\geq \frac{1}{(m-1)!} \left\{ \prod_{i=1}^w |\Delta^l x(g_i(n))|^{\alpha_i} \sum_{s=g_j(n)}^n (s-g_j(n)+m-l-1)^{(m-l-1)} \times \right. \\ &\quad \times p(s) \prod_{i=1}^w [(g_i(s)-m+l)^l]^{\alpha_i} + \prod_{i=1}^w |\Delta^{l-1} x(g_i(n))|^{\alpha_i} \times \\ &\quad \times \sum_{s=n+1}^{\infty} (s-g_j(n)+m-l-1)^{(m-l-1)} p(s) \prod_{i=1}^w [(g_i(s)-m+l-1)^{(l-1)}]^{\alpha_i} \left. \right\}, \quad (11) \end{aligned}$$

for  $n \geq n_1$ . Now by Lemma 2 we obtain

$$\begin{aligned} &\prod_{i=1}^w |\Delta^{l-1} x(g_i(n))|^{\alpha_i} \geq \\ &\geq \prod_{i=1}^w \left[ (g_i(n)-m+l) |\Delta^l x(g_i(n))| + \frac{1}{(m-l)!} \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} |\Delta^m x(s)| \right]^{\alpha_i} \end{aligned}$$

for  $n \geq n_1$  and, similarly as above,

$$\begin{aligned} \prod_{i=1}^w |\Delta^{l-1}x(g_i(n))|^{\alpha_i} &\geq \prod_{i=1}^w [(g_i(n) - m + l) |\Delta^l x(g_i(n))| + \\ &+ \frac{1}{(m-l)!} \prod_{k=1}^w |\Delta^l x(g_k(g_i(n)))|^{\alpha_k} \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} p(s) \times \\ &\times \prod_{k=1}^w \left[ \frac{[(g_k(s) - m + l)^{(l)}]^{\alpha_k}}{l!} \right]^{\alpha_i} \geq \prod_{i=1}^w |\Delta^l x(g_i(n))|^{\alpha_i} [(g_i(n) - m + l) + \\ &+ \frac{1}{(m-1)!} \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} p(s) \prod_{k=1}^w [(g_k(s) - m + l)^{(l)}]^{\alpha_k}]^{\alpha_i}. \end{aligned} \tag{12}$$

Using (12) in (11) we get

$$\begin{aligned} (m-1)! |\Delta^l x(g_i(n))| &\geq \prod_{i=1}^w |\Delta^l x(g_i(n))|^{\alpha_i} \times \\ &\times \left\{ \sum_{s=g_j(n)}^n (s - g_j(n) + m - l - 1)^{(m-l-1)} p(s) \times \right. \\ &\times \prod_{i=1}^w [(g_i(s) - m + l)^{(l)}]^{\alpha_i} + \prod_{i=1}^w \left[ (g_i(n) - m + l) + \frac{1}{(m-1)!} \times \right. \\ &\times \left. \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} p(s) \prod_{k=1}^w [(g_k(s) - m + l)^{(l)}]^{\alpha_k} \right]^{\alpha_i} \times \\ &\times \sum_{s=n+1}^{\infty} (s - g_j(n) + m - l - 1)^{(m-l-1)} \times \\ &\left. \times p(s) \prod_{i=1}^w [(g_i(s) - m + l - 1)^{(l-1)}]^{\alpha_i} \right\}. \end{aligned}$$

Raising both sides of the above inequality to the power  $\alpha_j$  and then multiplying the resulting inequalities we obtain

$$\begin{aligned} (m-1)! \prod_{j=1}^w |\Delta^l x(g_j(n))|^{\alpha_j} &\geq \prod_{i=1}^w |\Delta^l x(g_i(n))|^{\alpha_i} \times \\ &\times \prod_{j=1}^w \left\{ \sum_{s=g_j(n)}^n (s - g_j(n) + m - l - 1)^{(m-l-1)} p(s) \prod_{i=1}^w [(g_i(s) - m + l)^{(l)}]^{\alpha_i} + \right. \end{aligned}$$

$$\begin{aligned}
& + \prod_{i=1}^w \left[ (g_i(n) - m + l) + \frac{1}{(m-1)!} \sum_{s=n_1}^{g_i(n)-1} s^{(m-l)} p(s) \times \right. \\
& \times \prod_{k=1}^w [(g_k(s) - m + l)^{(l)}]^{\alpha_k} \left. \right]^{\alpha_i} \sum_{s=n+1}^{\infty} (s - g_j(n) + m - l - 1)^{(m-l-1)} \times \\
& \times p(s) \prod_{i=1}^w [(g_i(s) - m + l - 1)^{(l-1)}]^{\alpha_i} \left. \right\}^{\alpha_j},
\end{aligned}$$

which contradicts (10). Therefore every solution of  $(N_1)$  is oscillatory for  $m$  even.

Consider the case of  $m$  odd. Then  $x$  satisfies (1) for some  $l \in \{0, 2, \dots, m-1\}$ . The case  $l \in \{2, \dots, m-1\}$  is impossible (analogously as above). We shall prove that  $\lim_{n \rightarrow \infty} |x(n)| = 0$  with  $l = 0$ . Suppose to the contrary that  $\lim_{n \rightarrow \infty} |x(n)| = C > 0$ . Then  $|x(g_i(n))| \geq C$  for  $i = 0, \dots, w$  and  $n \geq n_2 \geq n_1$ . From (8) with  $i = 0$ :

$$x(n) = \sum_{j=0}^{m-1} \frac{(n-s)^{(j)}}{j!} \Delta^j x(s) + \frac{1}{(m-1)!} \sum_{r=s}^{n-m} (n-r-1)^{(m-1)} \Delta^m x(r)$$

and from (1) it follows that

$$\sum_{s=n_1}^{\infty} s^{(m-1)} |\Delta^m x(s)| < \infty.$$

Thus, by  $(N_1)$

$$s^{(m-1)} |\Delta^m x(s)| = s^{(m-1)} p(s) \prod_{i=1}^w |x(g_i(s))|^{\alpha_i} \geq C s^{(m-1)} p(s)$$

for  $s \geq n_2$ , hence

$$\sum_{s=n_2}^{\infty} s^{(m-1)} p(s) < \infty,$$

which is impossible in view of (C). The obtained contradiction proves that  $\lim_{n \rightarrow \infty} x(n) = 0$ . Therefore  $\lim_{n \rightarrow \infty} \Delta^i x(n) = 0$  monotonically for  $i = 0, 1, \dots, m-1$  and the proof is complete.  $\square$

From Theorems 1 and 2 we draw the following corollary.

**Corollary 2.** Consider difference equation  $(N_1)$  subject to conditions (6) and (10). Then all solutions of  $(N_1)$  are oscillatory.

The last theorem concerns equation  $(N_2)$ .

**Theorem 3.** Assume that (C) and (10) are satisfied for all  $l \in \{1, 2, \dots, m-1\}$  with  $m+l$  even. Then for an even  $m$  every solution of  $(N_2)$  is oscillatory either  $\lim_{n \rightarrow \infty} \Delta^i x(n) = 0$  or  $\lim_{n \rightarrow \infty} \Delta^i x(n) = \infty$  and for an odd  $m$  every solutions of  $(N_2)$  is either oscillatory or  $\lim_{n \rightarrow \infty} \Delta^i x(n) = \infty$  monotonically for  $i = 0, 1, \dots, m-1$ .

*Proof.* Assume that  $(N_2)$  has a nonoscillatory solution  $x(n) \neq 0$  for  $n \geq n_0$ . Then, by Lemma 1,  $x$  satisfies (1) for some  $l \in \{0, 1, \dots, m\}$  with  $m + l$  even.

Let  $m$  be even; then  $l \in \{0, 2, \dots, m - 2, m\}$ . The case  $l \in \{2, \dots, m - 2\}$  is impossible (see proof of Theorem 2); however, for  $l = 0$  there is  $\lim_{n \rightarrow \infty} \Delta^i x(n) = 0$ . Consider the case  $l = m$ , then from (1) we obtain inequalities

$$x(n)\Delta^k x(n) > 0 \quad \text{for } k = 0, 1, \dots, m - 1 \quad \text{and} \quad x(n)\Delta^m x(n) \geq 0$$

for  $n \geq n_1$ . This implies that there exist a constant  $C > 0$  and  $n_2 \geq n_1$  such that

$$|x(g_i(n))| \geq C [g_i(n)]^{(m-1)}, \quad (i = 0, 1, \dots, w)$$

and

$$|\Delta^{m-1} x(n)| = |\Delta^{m-1} x(n_2)| + \sum_{s=n_2}^{n-1} |\Delta^m x(s)|.$$

From the last two expressions and  $(N_2)$ , it follows that

$$\begin{aligned} |\Delta^{m-1} x(n)| &\geq \sum_{s=n_2}^{n-1} |\Delta^m x(s)| \geq \sum_{s=n_2}^{n-1} p(s) \prod_{i=1}^w |x(g_i(s))|^{\alpha_i} \geq \\ &\geq C \sum_{s=n_2}^{n-1} p(s) \prod_{i=1}^w [(g_i(s))^{(m-1)}]^{\alpha_i}. \end{aligned}$$

It is clear that above and (C) gives  $\lim_{n \rightarrow \infty} |\Delta^i x(n)| = \infty$  for  $i = 0, 1, \dots, m - 1$ .

Consider the case of  $m$  odd. Then  $x$  satisfies (1) for some  $l \in \{1, 3, \dots, m\}$ . From (10) it follows that  $l \notin \{1, 3, \dots, m - 2\}$ . In case  $l = m$  (similarly as for  $m$  even), there is that  $\lim_{n \rightarrow \infty} |\Delta^i x(n)| = \infty$  ( $i = 0, 1, \dots, m - 1$ ). The proof is complete.  $\square$

From Theorems 1 and 3 there follows:

**Corollary 3.** *Consider difference equation  $(N_2)$  subject to conditions (6) and (10). Then all solutions of  $(N_2)$  are oscillatory or  $\lim_{n \rightarrow \infty} |\Delta^i x(n)| = \infty$  monotonically for  $i = 0, 1, \dots, m - 1$ .*

REFERENCES

[1] Agarwal R. P., *Difference equations and inequalities*, Marcel Dekker, New York, 1992.  
 [2] Agarwal R. P., Popenda J., *On the oscillation of recurrence equations*, *Nonlinear Anal.* 36(1999), 231–268.  
 [3] Grzegorzcyk G., Werbowski J., *Oscillation of higher order difference equations*, *Comput. Math. Appl.* 42(2001), 711–717.

- [4] Kiguradze I. T., *Some singular boundary value problems for ordinary differential equations*, Tbilisi Univ. Press, Tbilisi, 1975.
- [5] Koplatadze R. G., Chanturia T. A., *On oscillatory properties of differential equations with a deviating argument*, Tbilisi Univ. Press, Tbilisi, 1977.
- [6] Nowakowska W., Werbowski J., *Sufficient conditions for the oscillation of solutions of difference equations*, Advances in Difference Equations (Veszprem, 1995), 467–471, Gordon and Breach, Amsterdam, 1997.
- [7] Szmanda B., *Bounded oscillations of difference equations*, Riv. Mat. Univ. Parma 5(1996), 33–40.
- [8] Thandapani E., *Asymptotic and oscillatory behavior of solutions of nonlinear second order difference equations*, Indian J. Pure Appl. Math. 24(1993), 365–372.
- [9] Wyrwińska A., *Oscillation criteria of a higher order linear difference equation*, Bull. Inst. Math. Acad. Sinica 22(1994), 259–266.
- [10] Zhang B. G., Van P., *Classification of solutions of delay difference equations*, Internat. J. Math. Math. Sci. 17(1994), 619–623.

G. Grzegorzcyk  
ggrzegor@math.put.poznan.pl

Poznań University of Technology  
Institute of Mathematics,  
Piotrowo 3A, 60-965 Poznań, Poland;

J. Werbowski  
jwerbow@math.put.poznan.pl

Poznań University of Technology  
Institute of Mathematics,  
Piotrowo 3A, 60-965 Poznań, Poland;

*Received: January 25, 2006.*